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The 3TARI 3787 that is described below is the final 3787 available to add to HTduTdeh Y&d | The
assumption is that one has already performed the following steps:

HTAl: SR @1, fafderf (Fe, Tcd, TAMH, 3IJ@R, wwgavi, 3uurdd when relevant)

If the 377 obtained in step (4) is 3MTBRI, then the following discussion is relevant

RS

Note: The scope of the current work also includes ¢d UcddT: - Q[q, M and they work exactly
the same way as 31ST1fS 37fUq fds themselves being 31STTfE 37fUd.

2. W TUTHHE: - UTq + fddor Ueaq: = 31g=d 3rei

70T e &< garfe SRS

faeoT T e ogq e[ foreg + 29 = 317
a3t type 37aTfe fuq BAIfS 31fUq 37oTTfe 31fUq 37T fod

IS 3TTBRI 37T

(step 4) yes no no no

possible or

available

uTaq: (FRge) that

result in 3TPRIT

3 BRI 31T ™M
HF 70T fUq a1 371Ud sfd ATduTde T deoTHAfad fAft steTerl ATfed 31d: BRI 37T d2
TS T AIoT et AiHBr] |
Table-1: H&/H 07 HHg BRI STRI HTHTID TIAT AN a8 fobar (*)
AT Yo d:
FL LI BaA Ao
3 Fad A R (Favf, 77, 9fg)
2. 37cb: Hauf e (£.2.20%), Q. HTGUT: (£.2.¢0), 3. G (&.2.¢¢)

* No effect to the ST ‘ATPRI:



Example:

For e 10T TR 3TBRI ST + HIGHTID T AIoi:

M+d M+ 3Md (?) T+ 31d () T+ 37T + 3TATH (2) 37T + 37d (%)
M+ M+ M+t 37T + T: 37717 + 37TRITH (3) 31T + &IH
M+7 (3) M+ dg M + A8 MM+ (R) 3MMT+dlg 37T+ AR

2. el o1 wHg: - uTq + faeBoT Heua: = 3 g

T kS A1 4 eIt e BT arfe ERIITA
fdeuT v 2M9: b 2[Y: o: o o7 3 o
I type gfe 31fUq  gwrfe 3ifuq  smefurge gaTle 31fud
Is 3TTBRTT
3]3-,-[ (step 4) yes yes no no no yes
possible or
available
CIGEE T, T, HT, 97T, T, &, &, <, Taf: o
(FRgemy) that T, @1, T, 91, o1, 70 37T
result in T, @, £8 UTd:
STPRIT ST 7 7, 77,
3rf<m T, qr, ¥T, so7T, TR, foier, hIoTT, <ftoTT,
3TBRI 31$T T, oI, W1, U1, 8T, &al, GHT, 3, aftom,
3, oI, <, S ISEI
T, UT, HI, all are 3n3a&d Ex3 |4
2Rl (thisis  H3TaT:
an 3T
3TP)

Below are the 31TRT=I 3787 categories in fgdi TURIHE: :-



fedtar o7 ArdeTdes U fud a1 31fud vdcsrfh: d Srca=iaedd:

Table-2: T TT0T g BRI STRA AFHTIP T ANT: a8 Ufsbar

RIERIGCRILE
faq Hfe
(e) (b) (a) &(c) (d)
garfle  Same as for Same as for g gegel: EAC ]
TerH 10T FHE: Werq 10T JHg: 8 gl T
3dIS:)
3efEé Same as for non-gf{ :- Same as for
ST 10T WHg: o T Eg:  QANIEIIRIA:  GAVT AT AN
g EESRELSI|
Table-3: Examples for fgdld 0T T ATBRI 377 + HITHTIP TATR HAISH :-
faq Hfe
L Afe R 0.7 Afe RIS o
(a) oM+ fd = dhromfd (a) hIOT +d = HIvT + e AMIGE
(b) &aT + fa = gaIfd (b) &&T + d: = QG + =g
(c)ffmr+fa  =fawrfa (c) fAmT + @ = At + @ =
dyaRer+fa =<Rafa@ @daRer+d = Rfg + @ =
(e) T +fd = 9Tfd (e) WT +d: = =¥Td
3raTfg e MUt 3.7 non-g - fafafafsT snerud 3.1
(@) PITM+T  =hiot (@) PITT+3T = P + 3 = I
(b) & + T =2 b)aT+3T = G+ T =R
(c) fAmT + ¢ = cfimm+sa = A+ g = fAdl
d)aReT+T  =geRd daRET+5a = g+ AR
(€)M +T =3 e+ = =
S - dfs WREHUG 9.9
(b) 3rGar+3: = 3eg + 3: = 3ag;
(c) AAAT+3: = A + 3: = 3fAY:
(d) 3eReT+3: = 3Ry +3: = 31eRg;:
(e) 3T+ 3: = I +3: =37:

For gaTTfc; 31fuq ‘&’ Arafarge ycaffa fady &rf see next page:



Exception-1: 'f&’ Wrafurges yeaa (gl sifte) a2y srf
Only g1 YTdd: subcategory of (a), full category of (b), and STeT HTq in (c) are affected.
Rest follow Table-2.

(a) SRITFS TT0Y Bl ©ITAd: (2408 - 8433)

1. gol=d YTdd: + T = 3R 31ST
2. PRI 37 + 8
o BT: AT TS GAVT AT Yedd TIM QAT TIIRT 3TG2I:

* 31l g: 0T 8

Example:

TN FTE JTIRONY (SRITFE TURT EATeITg: TG 24R¢)

TS + 9T = TSI

O+ 8 = TN + e + & (&eT: oaT 2SS gAun)
= I + 3 + f§
= T oToT + f&
= IIOT (37T : 07)

(b) STEITIS 0T &, ©T U1,
We did not do GﬁﬁﬂTﬁ:ﬂW yet. Will update this document once it is done. but noting down

1. 3R AP - &, ST - BRI 37T
2. BRI 37T + 8 - taARGINATHATIRT FAUT ‘T 371G: AT 3pJTH AU

Example:
a1 &M, HT YRT YIYUTT:
AR = %@ + f& (SANIFAIRTA: AT ‘HTBRI A1)
= T2 + 2 (SRIRGIaIR@Ied AT ‘T 3MTe2r:)
= 2 + R (a9RGInaraa T 0T 3nATH A1)
=<8
ot + 2 = Y + 8 (STNIETIRTA: AT ‘HATBRIA A1)
= TY + 8 (EARGIOIAIILT FAUT ATBRIA UM ‘T 371e2)
= ¥ + B (ORGInIrEaIged AT 3pATH A9:)

~ R



We did not do @é i MO yet. Will update this document once it is done

(c) STEITE 10T ST8T HTd:

An additional form (fd&e) is available when STeT + f§ because of 3T T & (3T T IV W, 31, 5, §
fadeq 3mmeer: Hafd)

Example:

STeT + f2 = 518 + 18 (€ gowrel: g3ur 22, 3 = € gaon)
= STEife
= Sife + f& (3 = & gAv)

Exception-2:

Only STeT 471q in (c) and T HTq in (b) are affected.

(c) STEIeITfS, 70T STeT Hg:
. C QAN R AT BRI AIFUTID g1 31U TId W, ST8T HTal: BRI old: Wafd

Example:

STET + I1q (all fafd fofg daR uem)

= ST&Iq, (same process for other faft fag @dR T=T:)

. * STETART GAUT FBRIIS AIGHTID Bellle 30 FAd U, STET UTdl: 3hRI Ald: Hafd

3ot fgett
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